Interpolazione e fitting dei dati sui decessi da Covid-19
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n2)= data = {70, 66, 51, 26, 44, 67, 67};
3= media=data// Mean // N
out3]= 55. 8571

in4)= devstandard = data // StandardDevi ation // N
out4= 16. 3649



2 | d_c_interpolazione.nb

In[5]:= ShOW[
{
(*pl ot 1)
Pl ot [
Interpolationf[datal[t], {t, 1, 7},
PlotStyle - {
{
Thi ckness [0. 0035]
}
}
1.
(*pl ot 2x)
Li stPlot [
{70, 66, 51, 26, 44, 67, 67},
Pl ot Range - {0, 80},
AxesOrigin- {0, 0},
AxeslLabel - {
Style["t", Small, Red, Italic]
1,
PlotStyle » Directive[Red, PointSize[Large]],
Filling » Axis
1.
(*pl ot 3%)
Plot [Fit [data, {1, x, x?, x%, x* x°}, x] 7/ Evaluate, {x, 1, 7},
PlotStyle »
{
Red, Dashed
}
]
}
Pl ot Range -» {{0, 7}, {0, 80}},
AxesOrigin- {0, 0},
Ti cks -»
{
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Epi | og - {
Red,
Text [Styl e["16/09/21", Smal |, Bold], {1, 3}1,
Point [{1, 0}1,
Dashed,
Li ne[{{0, nedia}, {data // Last, nmedia}}]
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55.8571
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data = {70, 66, 51, 26, 44, 67, 67};
data // Mean // N

55. 8571

(»trasformata discreta di Fourier )
DFT = data // Fourier;

(»anal i si spettral ex)

Li st Li nePl ot [Abs [DFT]"2]
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